Quiz 4 |

MaTH 334: SprING 2012:

Please put your work on this page. Box your answers. Thanks and enjoy. You have 16 minutes to
complete this quiz. Don’t forget the bonus problem on the back, it’s worth 10pts.

Problem 1 [2pts]| Find an annihilator for

() filz) =e >+ _
A=-3 and A=0 thie S A= (D43)D

(b.) fa(z) = ze® cos(2x) 2
D 2 2 z
2= &2 = A= ((D'“l) +Lf) = (D——ZD-FS’)
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Problem 2 [2pts| Set-up, but do not find A4, B, C, ..., the particular solution for:
(0) ¥ —y ==
(Dz——t) [w)= (D+1)(0-1)L9]) = x* = Dioe)p-1)(9)=0x*)=0.
‘@ Yp =Ax +8x+C

(b.) (D?*+ 9)[y] = cos(36) -+ €

(PPN Y] = @ﬂ ) [cs304e®] =0
= Ae® + BOIhE + COcs &
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Problem 3 [6pts| Solve 3" — 4y’ = e® + 3

(p-) D (0"~ 4p)a] = P (D-1) ™3]

(D-1)p*(0-4) (1) =
Y, = ¢+ et ad Y, = Ae” + Bx
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f X [ X 2
= C -+ C e — L -e —_—

g —1yl = eXe3
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Problem 4 [10pts, bonus!] Solve, for z > 0,

d’y  dy
2
2z R +y=0.

Let 9= X" ndte 9" =BR" ad 9L pra-y,
Smé&'/‘t%/
R-2. R-/
2xER(B~)X  — RXX & x% = O

CZ_RCR—l)-*R:-F[)X/{ =0 L X>o
= 2R - 2R —R +] =0 (é%wcﬁmalenez?
2R —3R +| = o Ed
(2R = 1)(R - 1) =0
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(9= c Ix +ax |




